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1 :

) (-0,25)17 · 811 ) (-4 )60 · (-1,25)40 ) 12100 · 1,550 · 6-150

) 1o  ( )

  (-0,25)17 · 811 = -0,2517 · 811 = - 0,256 · 0,2511 · 811 = - 0,256 · (0,25 · 8)11 = 
-0,256 · 211 = -0,256 · 26 · 25 = -( 0,25 · 2)6 · 25 = -0,56 · 25 = -0,5 · 0,55 · 25 = 
= -0,5 · (0,5 · 2)5 = -0,5 · 15= -0,5 · 1 = -0,5.

2o  ( )

(-0,25)17·811 = - (
100
25 )17·811 = - (

4
1 )17· (23 )11 = -( 22

1 )17· 233 =- 342
1 ·233 = 

-233-34 =    -2-1 = -
2
1 = - 0,5. 

) (-4)60 · (-1,25)40 = 460 · 1,2540 = 420 · 440 · 1,2540 = 420 · (4 · 1,25)40 = 420 · 540 =

 420 · 520 · 520 = (4 · 5 · 5)20 = 10020 = (102)20 = 1040

 2

   γ) 12100· 1,550 · 6-150 = 150

50100

6
5,112 ·  = 50100
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·
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6
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6
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4
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2
2  = 1. 

   γ) 12100· 1,550 · 6-150 = 150

50100

6
5,112 ·  = 50100

50100

66
5,112

·
· =(

6
12 )100 · (

6
5,1 ) 50  = 2100· (

4
1 )50=

    2100· ( 22
1 )50 = 2100· 1002

1 = 100

100

2
2  = 1. 

 Α= [(x2ψ3)-2·(xψ3)4]: (x3:ψ-1)-3  για  x= 2007 και ψ =
2007

1  

A=[(x2·ψ3)-2·(x·ψ3)4] : (x3:ψ-1)-3 = (x-4·ψ-6·x4·ψ12) : (x-9: ψ3) = (x-4+4·ψ-6+12) : 3

9
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·
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1 ·2007 =  1 . 

Λύση

 Α= [(x2ψ3)-2·(xψ3)4]: (x3:ψ-1)-3  για  x= 2007 και ψ =
2007

1  

A=[(x2·ψ3)-2·(x·ψ3)4] : (x3:ψ-1)-3 = (x-4·ψ-6·x4·ψ12) : (x-9: ψ3) = (x-4+4·ψ-6+12) : 3

9

ψ

−x = 

x 0 ·ψ6 · 9

3

−x
ψ  = 9

36

−

·
x

ψψ  = ψ9·x9 = (ψ·x) = 
2007

1 ·2007 =  1 . 

Λύση



 1

28

3

 = (-1)  + 1  = (-1)2 + (-1) +1 + (-1)

= (-1) + 1  = (-1)  + 1. .

1 :  :  = 1 + 1 = 2 

2 :  = -1 + 1 = 0 

= (-1)2 + (-1) +1 + (-1)  = 1 + (-1) +1 + (-1)  . 
.

1 : ,  + 1 :
= 1 + (-1) + 1 = 1.

2 : , +1 :
= 1 + 1 + (-1) = 1 

4 :

A = 2101·599 + 1099-299 · 5100 B = 279 · 649 - 325 · 627

  = 2101 · 599 + 1099 - 299 · 5100 = 22 · 299 · 599 + 1099 - 299 · 599 · 5 = 
= 4 · (2 · 5)99 + 1099 - (2 · 5)99· 5 = 4·1099 + 1099 - 5·1099 = 
= 1099(4 + 1 -5) = 1099 · 0 = 0

  = 279· 649 - 325· 627  = (33)9· (26)9 – (25)5 · (2·3)27 = 
= 327 · 254 - 225 · 227 · 327 = 327 · 254 - 252 · 327 = 327 · 252 (22 - 1) = 328 · 252
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.  ( )  ( )

 1.  (  - 3)0 = 1. 

 2.  > 0  (- )  = .

 3.  333 = (33)3.

 4.  (-1) + 1 = - 1.

 5. +  = + .

 6.  (- )  < 0 .

 7.  x = 0. 

 8. A 0 : 3  :  = 2 .

 9.  (5+3)3 = 53+33.

 10.  (43)5 = (45)3.

 11.  -24 = -(-2)4.

 12.  > 0 -  < 0. 

 13. 5 + 5 = 2 10.

 14. 8: 4 = 2.

 15.  (-4)5 · (-4)7 = 412.

 16. -  = μν −α
1 .

 17. - .

 18.  2  = 2 +1-2 .

 19.  =  = .
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2
1 )x 4x = (
2
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. :

 1.  (-3)-2 :

. –9, .  9, . -
9
1  , .

9
1  

 2.  (2x)2 = 
64
1

 x :
. 3, .  –3, . 4, .  -6, . 6

 3.  810 :
. 85, . 410, .  229, .  45, . 0,5 · 810

 4.  (-6) . :
. , . , .  0, . .

 5. H  [(-3)0]5 :
. 1, . -1, . 35, . -15

 6.  3  = (-3) :
. , . , . 0, . .

 7.  ( )  0 :
. 2, . 3, . 2

 8.  (-1) :
. -1 , . – , . 1, .

 9.  (x-3)0 = 1,  x :
. x = 0, . x = 3, . x  3, . .

 10.  33 + 33 + 33 + 33 + 33 :
. 315, . 5·33, . 153, . 1515
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1 :
 8-3, -7-2, (-3)-5, -44, (-20)5, (4)0

2 :
) 4 · 5 , ) (- )3· 4, ) (- )4: 2, ) 3 · 8 : -2 · 3

ε) 
2

45

)
4
1(32

)2(8)5,0(
−

−−

·

−··   στ)  5

325

36
32814 ···   

3 :
 = 377 + 377 + 377 = 2102 - 2101 - 2100,  = 299 - 449, =217 · 318 - 218 · 317

4 :
) 8x = 32, ) 3x · 42x+ 1 = 192, ) 8· 53x-2 = 200, ) 2·3x = 54 

ε)  (
3
2 )-2·(

2
3 )Χ = 

4
81 ,  στ)  3Χ+2 = 1  

5 :
) = 58  = (53)2, )  = 28  = 82, )  = 1235  = 742

) = 215  = 324, ) = 535  = 719 + 48 · 719.

6 ) : ( x -5)·(x2)2 = - 
3
1  

)  x :
 = (x + 2)2007 + (x + 3)2008 + (x + 4)2009
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9 = (32)4 + 311 : 27 + 33 : 3-5 -2 · 39  3.
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10 :
A = 22000 : [(2550 : 599 - 351 : 925)1999] + (2111)18 - 2 · 21997

(  2000)

11 )  2 +3 + 2 · 2  10

)  = 46 +2 -10 · 46 + 12  6

12 :
 = (-1)2007 +[-5-(-22-3)]5 – {-[-2-(-12006+1)]}4

= [(-1)10+(-1)11] · (24 - 32) + 512 : 510-20

13 A :
A = (-1)2007 + (-1) +2 + (1)2 +1

14 Α = νν
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